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HUNE AV N R TR S B

et TS W T k%ﬁ%ﬁj(%ﬁ H : ER24E4 A 1TH
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
A (5 A L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 10:30 11:49 8:00 9:10 - -

KA IS IS IS IS - -

K (‘©) 17.3 19.3 11.2 13.6 - -
JrokAr (ki) (m) 87.80 87. 80 - - - -
AR (Bpkih) (m*/s) 57.63 57.63 - - - -
e (ki) (m®/s) 68. 09 68. 09 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 4.3 >4.3 - - - -

ARt (Br/KH) 11 11 - - - -
KB (m) 8.0 4.3 0.8 3.5 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -

sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -

R (TF) g R R R R R R - -

7K §®) 12.2 11.7 11.6 12.1 11.9 11.8 - -

B (%) 1.1 1.1 1.3 0.8 0.9 1.1 - -

DO (mg/1) 11.3 11.2 11.1 11.1 11.1 11.3 - -

B RURE (mS/m) 6.9 6.7 6.6 7.0 7.0 7.1 - -

W (i) ) (EENSHT) () 1.1 1.1 1.4 0.7 0.7 1.2 - -

DO (ZE 43 #HT) (mg/1) 10.9 10.9 10.9 11.0 11.2 10.9 - 7.500

pH (—) 7.6 7.7 7.7 7.7 7.7 7.7 - 6. 500 8. 5L F
BOD (mg/1) 0.7 0.6 0.6 0.6 0.4 0.4 - ILLF | 2LF
CODMn (mg/1) 1.6 1.6 1.5 1.3 1.3 1.4 - -

Ss (mg/1) 1.4 1.5 1.8 0.9 0.8 1.9 - 25LLF
KGR (MPN/100m1) 350 920 700 490 700 490 - 504 F | 1,00080 F
fREEHR (mg/1) 0. 427 0.392 0. 420 0. 364 0.315 0. 350 - -
TR LHEREE (mg/1) 0. 057 0. 049 0. 062 0. 055 0. 039 - - -
MAHEE e 5 (mg/1) 0. 002 0. 002 0. 002 0. 001 0. 002 - - -
e (mg/1) 0. 266 0. 252 0. 250 0. 245 0.231 - - -

wmy (mg/1) 0. 008 0. 008 0. 008 0. 006 0. 006 0. 007 - -

AN b U UEEREY (mg/1) 0. 002 0. 001 0. 001 0. 002 0. 001 - - -
Va=3= WP (mg/m”) 0.7 1.0 1.0 0.6 1.1 0.9 - -

kU m A X ERRE (mg/1) - - - - - - - -

2MIB (ng/1) - - - - - - - -
A AI (ng/1) - - - - - - - -

TxF T4 Fa (mg/m%) 0.9 1.0 0.8 - - - - -
VAR Y > (mg/1) 0. 003 0. 003 0. 003 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 001 - - - - -

[k} (mg/1) 0.002 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 3 7 11 3 11 -

BRI L MR R

1 ASER

1 ASER

1
1) [AAJERY

1 ASER
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HUNE AV N R TR S B

— T — T kﬁgﬁk}%ﬁ H: EEk244E5H8 H
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
WA (5 1t Ei) (= 47-46) G 1) 7 Mk ) ATk ) RELE
FH () % JE e NE ] ANSERRY {] )| SR
A BA AR 10:00 12:09 7:54 8:57 11:50 -

KA IS IS IS IS i -

K (‘©) 22.8 25.5 16.0 21.5 25.5 -
JrokAr (ki) (m) 87. 82 87. 82 - - 87.82 -
AR (Bpkih) (m*/s) 36. 08 36. 08 - - 36. 08 -
e (ki) (n*/s) 35.99 35.99 - - 35.99 -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 3.9 >4.6 - - >5.0 -

ARt (Br/KH) 12 12 - - 12 -
KB (m) 8.0 4.6 0.8 3.3 5.0 -

BK K (m) 0.5 4.0 7.0 0.5 0.2 0.7 0.5 -

SR 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 2355 9 -

R (TF) g R R R R R R L -

7K (©) 16.9 16. 4 16.3 16.8 16. 2 16. 4 17.5 -

B (%) 1.7 1.2 1.2 1.3 1.0 1.2 1.5 -

DO (mg/1) 10. 1 10. 1 10. 1 10.1 10.0 10. 1 10.1 -

B RURE (mS/m) 8.2 8.2 8.2 8.7 7.9 8.1 8.1 -

W (i) ) (EENSHT) () 1.6 1.2 1.2 1.0 0.9 1.4 - -

DO (ZE 43 #HT) (mg/1) 9.9 10.0 9.9 9.9 9.9 9.9 - 7.500

pH (—) 7.7 7.7 7.7 7.7 7.6 7.7 - 6.50L 8. 5LLF
BOD (mg/1) 1.1 0.7 0.5 0.6 0.5 0.4 - ILLF | 2LF
CODMn (mg/1) 1.7 1.5 1.5 1.4 1.4 1.4 - -

Ss (mg/1) 1.4 1.5 2.0 0.7 0.9 1.6 - 25LLF
KGR (MPN/100m1) 240 790 330 790 790 700 - 504 F | 1,00080 F
fREEHR (mg/1) 0. 403 0.336 0.316 0. 302 0. 269 0.316 - -
TR LHEREE (mg/1) 0. 060 0. 050 0.043 0. 050 0. 041 - - -
MAHEE e 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 001 - - -
e (mg/1) 0.216 0.213 0.213 0.215 0. 207 - - -

wmy (mg/1) 0.010 0.010 0. 009 0. 008 0. 008 0. 008 - -

AN b U UEEREY (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 - - -
Va=3= WP (mg/m”) 1.9 2.4 2.4 1.1 1.4 2.0 - -

h U Na A F A RRRE (mg/1) 0. 020 - - - - - 0. 020 -

2MIB (ng/1) 0 - - - - - 0 -
Tt AI (ng/1) 0 - - - - - 0 -
TxF T4 Fva (mg/m%) 0.9 0.8 1.1 - - - - -
VAR Y > (mg/1) 0. 002 0. 002 0. 002 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 000 0. 000 0. 000 - - - - -
[k} (mg/1) 0. 005 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 4 7 15 10 12 7 - -

BRI L MR R

1 ASER

1 ASER
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HUNE AV N R TR S B

— T — T k%%ﬁj(%ﬁ H: ERk2446H5 H
= HT7KY f AL =3 Vi =3 i VISEV/S/ 5
A (5 A L) (=47 16) (1% O 1) (% 2Bk ) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 9:55 11:08 7:52 9:00 - -
KA 55} 55 55} 55} - -
KU (‘©) 18.5 18.9 19.0 20. 2 - -
JrokAr (ki) (m) 87.89 87. 89 - - - -
AR (Bpkih) (m*/s) 55. 00 55. 00 - - - -
e (ki) (m®/s) 58. 41 58. 41 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 6.2 >5.0 - - - -
ARt (Br/KH) 12 12 - - - -
KB (m) 7.5 5.0 0.8 3.3 - -
KK (m) 0.5 3.8 6.5 0.5 0.2 0.7 - -
sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -
R (TF) g R R R R R R - -
7K §®) 17.3 17.2 17.1 16.6 16.5 17.2 - -
B (%) 1.0 0.9 1.0 0.8 1.2 1.5 - -
DO (mg/1) 9.8 9.7 9.6 9.6 9.9 9.9 - -
B RURE (mS/m) 6.8 6.7 6.7 6.5 6.5 6.9 - -
W (i) ) (EENSHT) () 1.0 0.9 1.1 0.8 0.9 1.5 - -
DO (ZE 43 #HT) (mg/1) 9.9 9.9 9.8 9.8 9.9 9.8 - 7.500
pH (—) 7.8 7.7 7.6 7.6 7.6 7.6 - 6. 500 8. 5L F
BOD (mg/1) 0.5 0.5 0.4 0.3 0.4 0.5 - ILLF | 2LF
CODMn (mg/1) 1.7 1.6 1.6 1.5 1.5 1.8 - -
Ss (mg/1) 1.0 0.9 1.7 0.8 0.8 1.8 - 25LLF
KGR (MPN/100m1) 1300 1700 330 3300 790 490 - 504 F | 1,00080 F
fREEHR (mg/1) 0. 256 0.236 0.243 0.216 0. 230 0.263 - -
TR LHEREE (mg/1) 0.043 0. 045 0. 050 0. 035 0. 030 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 001 0. 001 - - -
e (mg/1) 0.162 0.161 0. 165 0. 177 0. 162 - - -
wmy (mg/1) 0. 008 0. 008 0. 008 0. 006 0. 006 0. 009 - -
T b U EREEY (mg/1) 0. 001 0. 001 0. 001 0. 001 0. 001 - - -
rana7 4)ba (mg/m”) 1.6 1.5 1.5 0.9 1.0 1.6 - -
kU m A X ERRE (mg/1) - - - - - - - -
2MIB (ng/1) - - - - - - - -
Tt AI (ng/1) - - - - - - - -
TxF T4 Fa (mg/m%) 0.7 0.8 0.9 - - - - -
R Y (mg/1) 0. 002 0. 002 0. 002 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 001 - - - - -
[k} (mg/1) 0. 001 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 9 9 8 14 3 18 - -
BRbE LR e A7) 1 ASEY A7) 1 ASEY A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

et TS W T k%ﬁ%ﬁj(%ﬁ H : SER2AETALLA
= HT7KY f AL =3 Vi =3 i VISEV/S/ 5
A (5 A L) (=47 16) (1% O 1) (% 2Bk ) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 10:11 11:00 7:50 8:52 - -

KA 55} 55 2 2 - -

K (‘©) 23.3 22.5 21.9 24. 4 - -
JrokAr (ki) (m) 87.95 87.95 - - - -
AR (Bpkih) (m*/s) 76. 14 76. 14 - - - -
e (ki) (m®/s) 96. 82 96. 82 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 5.3 >4.0 - - - -

ARt (Br/KH) 12 12 - - - -
KB (m) 7.8 4.0 0.8 3.7 - -
KK (m) 0.5 3.9 6.8 0.5 0.2 0.7 - -

sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -

R (TF) g R R R R R R - -

KR (C) 20.0 20.0 19.9 19.7 20.0 20.2 - -

B (%) 1.3 1.1 1.4 1.6 1.4 1.5 - -

DO (mg/1) 9.2 9.3 9.4 9.4 9.5 9.3 - -

B RURE (mS/m) 7.0 7.0 7.0 6.6 6.5 7.1 - -

W (i) ) (EENSHT) () 1.3 1.3 1.4 1.4 1.1 1.3 - -

DO (ZE 43 #HT) (mg/1) 9.0 9.0 9.1 9.2 9.2 9.0 - 7.500

pH (—) 7.7 7.7 7.7 7.7 7.7 7.7 - 6. 500 8. 5L F
BOD (mg/1) 0.5 0.3 0.3 0.5 0.4 0.3 - ILLF | 2LF
CODMn (mg/1) 1.5 1.5 1.5 1.5 1.6 1.5 - -

Ss (mg/1) 1.1 1.2 1.3 1.2 1.1 1.3 - 25LLF
KGR (MPN/100m1) 2200 1300 3300 2400 7900 4900 - 50LLF | 1,00080 F
fREEHR (mg/1) 0.336 0.323 0.316 0. 309 0. 295 0.343 - -
TR LHEREE (mg/1) 0.043 0. 035 0.038 0. 035 0. 035 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 001 0. 001 - - -
e (mg/1) 0. 250 0. 247 0.241 0. 200 0.224 - - -

wmy (mg/1) 0.010 0.010 0. 009 0. 008 0. 009 0. 009 - -

AN b U UEEREY (mg/1) 0. 003 0. 003 0. 003 0. 002 0. 003 - - -
sana” 4)ba (mg/m*) 1.1 1.1 0.8 0.9 1.2 1.0 - -

kU m A X ERRE (mg/1) - - - - - - - -

2MIB (ng/1) - - - - - - - -
A AI (ng/1) - - - - - - - -

TxF T4 Fa (mg/m%) 0.8 0.8 0.7 - - - - -
R Y (mg/1) 0. 002 0. 003 0. 003 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 001 - - - - -

[k} (mg/1) 0. 005 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 20 17 47 23 21 19 - -

BRI L MR R

1 ASER

1 ASER

1) [AAJERY

1 ASER

1 ASER




HUNE AV N R TR S B

— T — T k%%ﬁk}%ﬁ H: ERk244E8H T H
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ ;
TRALHLL (5 A Ei) (= 47-46) G 1) 7 Mk ) ATk ) RELE
FH () % JE e e ] ANSERRY {] )| SR
A BA AR 10:14 12:07 7:50 8:55 11:40 -

KA IS i 2 2 i -

K (‘©) 28.6 30.9 26.3 29.7 30.5 -
JrokAr (ki) (m) 87.98 87.98 - - 87.98 -
AR (Bpkih) (m*/s) 69. 33 69. 33 - - 69. 33 -
e (ki) (n*/s) 69. 43 69. 43 - - 69. 43 -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 4.7 >4.5 - - 4.1 -

ARt (Br/KH) 8 8 - - 8 -
KB (m) 8.0 4.5 0.8 3.4 5.8 -
ARG (m) 0.5 4.0 7.0 0.5 0.2 0.7 0.5 -

SR 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 2355 9 -

R (TF) g R R R R R R L -

KR (C) 22.7 22.1 22.0 22.4 21.6 22.3 22.4 -

B (%) 1.4 1.6 1.8 1.1 0.8 1.9 1.5 -

DO (mg/1) 9.2 9.2 9.1 9.1 9.3 9.3 9.1 -

B RURE (mS/m) 7.4 6.9 6.8 6.7 6.0 7.2 7.0 -

W (i) ) (EENSHT) () 1.5 1.6 1.7 1.0 0.9 1.7 - -

DO (ZE 43 #HT) (mg/1) 8.8 8.8 8.9 9.0 9.1 8.8 - 7.5L0

pH (—) 7.6 7.7 7.7 7.7 7.7 7.7 - 6. 500 8. 5L F
BOD (mg/1) 0.6 0.4 0.5 0.5 0.5 0.6 - ILLF | 2LF
CODMn (mg/1) 1.8 1.7 1.7 1.7 1.7 2.3 - -

Ss (mg/1) 1.2 1.8 1.9 1.1 1.1 2.2 - 25LLF
KGR (MPN/100m1) 3300 3300 7000 3300 4900 3300 - 50LLF | 1,00080 F
fREEHR (mg/1) 0. 296 0.275 0. 289 0.233 0. 254 0. 296 - -
TR LHEREE (mg/1) 0. 055 0. 049 0.075 0. 066 0. 058 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0.001 0. 001 - 0. 001 -
e (mg/1) 0. 209 0. 200 0.203 0. 160 0. 189 - 0. 199 -

wmy (mg/1) 0.010 0. 009 0. 009 0. 007 0. 007 0.010 - -

AN b U UEEREY (mg/1) 0. 003 0. 003 0. 003 0. 003 0. 002 - - -
Va=3= WP (mg/m”) 2.5 2.1 2.0 0.9 1.3 2.1 - -

h U Na A F A RRRE (mg/1) 0. 027 - - - - - 0. 026 -

2MIB (ng/1) 0 - - - - - 0 -
Tt AI (ng/1) 0 - - - - - 0 -
TxF T4 Fva (mg/m%) 0.7 0.7 0.8 - - - - -
VAR Y > (mg/1) 0. 003 0. 003 0. 003 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 001 - - - - -
[k} (mg/1) 0. 004 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 53 48 23 20 29 140 - -

BRI L MR R

1 ASER

1 ASER

1) [AAJERY

1 ASER

1 ASER




HUNE AV N R TR S B

et TS W T k%ﬁ%ﬁj(%ﬁ H : FA2499 A 13H
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ ;
A (5 B L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
HH (HA1) )8 1 TE 7| ANKERY ]I AJERY
A BA AR 10:00 10:58 7:47 8:49 - -
KA IS IS IS IS - -
K (‘©) 27.8 28.9 25.3 27.6 - -
JrokAr (ki) (m) 87. 82 87.82 - - - -
AR (Bpkih) (m*/s) 135. 41 135. 41 - - - -
R (Frakih) (m*/s) 138. 00 138. 00 - - - -
FERE QAT (cm) - - >100 >100 - -
FEEE (ki) (m) 4.2 >4.6 - - - -
AR (BrE7KH) 12 12 - - - -
ARG (m) 8.0 4.6 0.8 3.4 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -
sl 4355 9 4,355 9 4355 9 4355 1 4355 9 2355 9 - -
R (TF) i R R R R R R - -
KR §®) 21.4 21.3 21.2 21.6 21.1 21.3 - -
B (%) 1.6 1.9 2.5 1.1 0.9 2.1 - -
DO (mg/1) 8.8 8.8 8.8 9.1 9.6 9.2 - -
B RURE (mS/m) 6.3 6.3 6.3 6.2 6.0 6.4 - -
W (i) ) (EENSHT) () 1.4 1.8 2.8 1.3 1.1 2.4 - -
DO (ZE 43 #HT) (mg/1) 8.9 9.0 8.9 9.3 9.4 9.0 - 7.500
pH (—) 7.6 7.7 7.6 7.6 7.6 7.6 - 6. 500 8. 5L F
BOD (mg/1) 0.6 0.6 0.4 0.6 0.4 0.3 - ILLF | 2LF
CODMn (mg/1) 1.7 1.8 1.8 1.6 1.6 1.7 - -
Ss (mg/1) 1.1 2.4 4.1 1.6 1.7 3.1 - 25LLF
KGR (MPN/100m1) 11000 1700 3300 3300 3300 1300 - 50LLF | 1,00080 F
fREEHR (mg/1) 0.361 0.375 0. 354 0. 307 0. 280 0.347 - -
TR LHEREE (mg/1) 0. 063 0. 065 0.071 0. 055 0. 040 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 001 0. 001 - - -
e (mg/1) 0. 235 0.233 0.227 0. 240 0. 197 - - -
wmy (mg/1) 0.010 0.011 0.012 0.010 0. 009 0.011 - -
AN b U UEEREY (mg/1) 0. 003 0. 004 0. 005 0. 003 0. 003 - - -
rana7 4)ba (mg/m”) 0.8 0.9 0.9 0.8 1.0 0.9 - -
kU m A X ERRE (mg/1) - - - - - - - -
2MIB (ng/1) - - - - - - - -
Tt AI (ng/1) - - - - - - - -
TxF T4 Fa (mg/m%) 0.7 0.8 0.8 - - - - -
R Y (mg/1) 0. 003 0. 003 0. 004 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 002 - - - - -
[k} (mg/1) 0. 003 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 29 21 22 30 32 18 - -
BRbE LR e A7) 1 ASEY A7) 1 ASEY A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

et TS e e k%ﬁ%ﬁj(%ﬁ H : FRk244:10H 10 H
5 NGV EH S =3 e A i VISEV/S/ 5
A (5 A L) (=47 16) G2 O 1) W (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 10:00 11:13 7:55 9:06 - -
KA IS IS IS IS - -
K (‘©) 20. 1 23.2 18.2 19. 4 - -
JrokAr (ki) (m) 87.92 87.92 - - - -
AR (Bpkih) (m*/s) 38. 69 38. 69 - - - -
e (ki) (m®/s) 43. 66 43. 66 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) >8.0 6. 4 - - - -
ARt (Br/KH) 10 12 - - - -
KB (m) 8.0 6.4 0.8 3.3 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -
sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -
R (TF) g R R R R R R - -
7K §®) 18.5 18.2 18.2 18.1 18.2 18.3 - -
B (%) 1.2 1.4 1.0 0.5 0.7 0.9 - -
DO (mg/1) 9.5 9.4 9.5 9.7 9.4 9.5 - -
B RURE (mS/m) 8.8 8.7 8.6 8.8 8.9 8.8 - -
W (i) ) (EENSHT) () 1.0 1.3 0.8 0.7 0.4 0.7 - -
DO (ZE 43 #HT) (mg/1) 9.8 9.8 9.8 9.7 9.7 9.7 - 7.500
pH (—) 7.8 7.8 7.8 7.8 7.8 7.8 - 6. 500 8. 5L F
BOD (mg/1) 0.8 0.3 0.4 0.7 0.3 0.4 - ILLF | 2LF
CODMn (mg/1) 1.3 1.3 1.1 1.3 1.0 1.2 - -
Ss (mg/1) 0.9 4.4 0.7 0.5 0.5 0.8 - 25LLF
KGR (MPN/100m1) 1300 1300 1300 1300 2200 460 - 504 F | 1,00080 F
fREEHR (mg/1) 0. 398 0. 344 0. 357 0. 350 0. 289 0.371 - -
TR LHEREE (mg/1) 0. 042 0. 029 0. 044 0. 029 0. 039 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 001 0. 001 - - -
e (mg/1) 0.291 0. 289 0. 289 0.274 0. 242 - - -
wmy (mg/1) 0.010 0.010 0. 009 0. 008 0. 006 0. 008 - -
AN b U UEEREY (mg/1) 0. 005 0. 005 0. 005 0. 004 0. 004 - - -
Va=3= WP (mg/m”) 1.6 1.0 1.1 0.5 0.6 1.7 - -
kU m A X ERRE (mg/1) - - - - - - - -
2MIB (ng/1) - - - - - - - -
Tt AI (ng/1) - - - - - - - -
TxF T4 Fa (mg/m%) 0.7 0.6 0.5 - - - - -
VAR Y > (mg/1) 0. 005 0. 005 0. 005 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 002 0. 001 - - - - -
[k} (mg/1) 0. 004 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 100 110 98 74 28 66 - -
BRbE LR e ] A% A7) A% A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

et TS W T k%ﬁ%ﬁj(%ﬁ H : FR244911H6H
= HT7KY f AL =3 Vi =3 i VISEV/S/ ;
A (5 B L) (=47 16) (1% O 1) (% 2Bk ) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 9:50 11:01 7:53 8:47 10:33 -
KA IS i 2 2 IS -
KU (‘©) 15.0 17.2 12.2 15.7 17.0 -
JrokAr (ki) (m) 88. 00 88. 00 - - 88. 00 -
AR (Bpkih) (m*/s) 36. 06 36. 06 - - 36. 06 -
e (ki) (n*/s) 36. 85 36. 85 - - 36. 85 -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 5.9 >5.1 - - 6.5 -
ARt (Br/KH) 12 12 - - 12 -
KB (m) 8.0 5.1 0.8 3.3 6.5 -
ARG (m) 0.5 4.0 7.0 0.5 0.2 0.7 0.5 -
sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 2355 9 -
R (TF) g R R R R R R L -
7K §®) 14.1 13.8 13.7 13. 4 13.9 13.9 13.7 -
B (%) 0.9 0.9 1.1 0.7 0.6 0.9 0.6 -
DO (mg/1) 10. 6 10. 6 10.5 10. 6 10. 2 10.3 10.3 -
B RURE (mS/m) 9.2 8.9 9.0 9.6 8.4 9.1 9.2 -
W (i) ) (EENSHT) () 0.8 0.8 0.9 0.5 0.5 1.2 - -
DO (ZE 43 #HT) (mg/1) 10. 6 10.6 10.5 10.6 10. 4 10.5 - 7.500
pH (—) 7.7 7.7 7.8 7.8 7.8 7.8 - 6. 500 8. 5L F
BOD (mg/1) 0.5 0.4 0.3 0.4 0.5 0.4 - ILLF | 2LF
CODMn (mg/1) 1.3 1.2 1.1 1.1 1.1 1.3 - -
Ss (mg/1) 0.9 0.6 0.9 0.1 0.1 0.8 - 25LLF
KGR (MPN/100m1) 330 460 330 1100 3300 330 - 504 F | 1,00080 F
fREEHR (mg/1) 0.322 0. 288 0.281 0.322 0.281 0.315 - -
TR LHEREE (mg/1) 0. 047 0. 039 0. 042 0. 042 0. 042 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 001 0. 001 - - -
e (mg/1) 0.243 0.218 0. 208 0. 241 0.193 - - -
wmy (mg/1) 0. 007 0. 006 0. 005 0. 005 0. 004 0. 005 - -
AN b U UEEREY (mg/1) 0. 003 0. 003 0. 003 0. 003 0. 002 - - -
Va=3= WP (mg/m”) 2.7 1.5 0.5 0.5 0.9 1.3 - -
MU Nm A K U ARGHE (mg/1) 0.021 - - - - - 0.017 -
2MIB (ng/1) 0 - - - - - 0 -
Tt AI (ng/1) 0 - - - - - 0 -
TxF T4 Fva (mg/m%) 0.5 0.5 0.6 - - - - -
VAR Y > (mg/1) 0. 002 0. 001 0. 002 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 000 0. 001 - - - - -
[k} (mg/1) 0.001 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 8 9 9 15 70 8 - -
BRbE LR e ] A% A7) A% A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

et TS W T EE.‘EJ(}EH H : FR244E12H4H
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
A (5 A L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
JEH (HAD) ®Ig \ 1 T ) NSRRI {1 SRR
A BA AR 10:30 11:38 8:05 9:03 - -

KA 2 = IS IS - -

K (‘©) 9.8 8.2 8.6 9.0 - -
JrokAr (ki) (m) 87. 77 87.77 - - - -
AR (Bpkih) (m*/s) 49. 06 49. 06 - - - -
e (ki) (m®/s) 52. 46 52. 46 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 6.7 >4.0 - - - -

ARt (Br/KH) 12 12 - - - -
KB (m) 8.0 4.0 0.8 3.4 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -

sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -

R (TF) g R R R R R R - -

7K §®) 9.6 9.6 9.6 9.7 10.2 9.7 - -

B (%) 1.3 1.3 1.3 1.0 0.8 1.2 - -

DO (mg/1) 11.2 11.3 11.3 11.3 11.5 11.3 - -

B RURE (mS/m) 8.3 8.3 8.3 7.7 7.1 8.4 - -

W (i) ) (EENSHT) () 1.1 1.0 1.1 0.8 0.6 1.0 - -

DO (ZE 43 #HT) (mg/1) 11.5 11.5 11.4 11.5 11.5 11.4 - 7.500

pH (—) 7.7 7.7 7.7 7.7 7.7 7.7 - 6. 500 8. 5L F
BOD (mg/1) 0.4 0.2 0.2 0.3 0.2 0.3 - ILLF | 2LF
CODMn (mg/1) 1.5 1.4 1.5 1.4 1.4 1.4 - -

Ss (mg/1) 1.0 1.0 0.8 0.6 0.4 1.0 - 25LLF
KGR (MPN/100m1) 490 330 460 700 230 1300 - 50LLF | 1,00080 F
fREEHR (mg/1) 0.331 0.331 0. 352 0.274 0.246 0. 345 - -
TR LHEREE (mg/1) 0. 060 0. 055 0. 045 0. 037 0. 031 - - -
MAHEE e 5 (mg/1) 0. 002 0. 002 0. 002 0. 001 0. 001 - - -
e (mg/1) 0. 249 0. 249 0. 249 0. 209 0. 200 - - -

wmy (mg/1) 0. 005 0. 005 0. 005 0. 004 0. 004 0. 005 - -

AN b U UEEREY (mg/1) 0. 003 0. 003 0. 003 0. 002 0. 002 - - -
Va=3= WP (mg/m”) 0.3 0.4 0.4 0.6 0.8 0.4 - -

kU m A X ERRE (mg/1) - - - - - - - -

2MIB (ng/1) - - - - - - - -
A AI (ng/1) - - - - - - - -

TxF T4 Fa (mg/m%) 0.6 0.6 0.7 - - - - -
VAR Y > (mg/1) 0. 004 0. 004 0. 004 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 002 - - - - -

[k} (mg/1) 0. 001 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 11 11 12 42 74 14 - -
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HUNE AV N R TR S B

— T — T k%)ﬁlﬁ(%ﬁ H: EEk25%E1H8 H
= HT7KY f AL =3 Vi =3 i VISEV/S/ 5
A (5 A L) (=47 16) (1% O 1) (% 2Bk ) (AT D) RELE
FH () EE e e ] ) 1 AAKER] {1 A%ER
A BA AR 10:06 11:04 7:59 8:50 - -
KA IS i 2 2 - -
K (‘©) 4.6 6.8 2.6 3.1 - -
JrokAr (ki) (m) 87.91 87.91 - - - -
AR (Bpkih) (m*/s) 42.20 42.20 - - - -
Jm R (ki) (m*/s) 42.18 42.18 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) >8.0 >5.0 - - - -
ARt (Br/KH) 11 11 - - - -
KB (m) 8.0 5.0 0.8 3.3 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -
sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -
R (TF) g R R R R R R - -
7K §®) 5.5 5.5 5.4 5.5 6.1 5.5 - -
B (%) 0.5 0.6 0.6 0.3 0.4 0.7 - -
DO (mg/1) 12.8 12.5 12.5 12.6 12.6 12.6 - -
B RURE (mS/m) 8.1 8.2 8.1 8.2 7.2 8.3 - -
W (i) ) (EENSHT) () 0.4 0.5 0.4 0.4 0.3 0.6 - -
DO (ZE 43 #HT) (mg/1) 12.8 12.8 12.8 12.8 12.8 12.8 - 7.500
pH (—) 7.7 7.7 7.7 7.7 7.7 7.6 - 6. 500 8. 5L F
BOD (mg/1) 0.4 0.2 0.3 0.3 0.2 0.2 - ILLF | 2LF
CODMn (mg/1) 1.0 1.1 1.2 1.1 1.1 1.3 - -
Ss (mg/1) 0.7 0.1 0.2 0.0 0.0 0.1 - 25LLF
KGR (MPN/100m1) 170 79 79 170 130 130 - 504 F | 1,00080 F
fREEHR (mg/1) 0. 370 0. 390 0. 369 0. 362 0. 295 0.410 - -
TR LHEREE (mg/1) 0. 060 0. 047 0. 058 0. 047 0. 040 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0. 002 0. 001 - - -
e (mg/1) 0. 308 0.332 0. 304 0. 299 0. 252 - - -
wmy (mg/1) 0. 007 0. 007 0. 006 0. 005 0. 005 0. 006 - -
AN b U UEEREY (mg/1) 0. 004 0. 004 0. 004 0. 003 0. 003 - - -
Va=3= WP (mg/m”) 0.2 0.2 0.3 0.3 0.5 0.5 - -
kU m A X ERRE (mg/1) - - - - - - - -
2MIB (ng/1) - - - - - - - -
Tt AI (ng/1) - - - - - - - -
TxF T4 Fa (mg/m%) 0.5 0.4 0.5 - - - - -
VAR Y > (mg/1) 0. 003 0. 003 0. 003 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 002 0. 002 0. 002 - - - - -
[k} (mg/1) 0.002 - - - - - - 0. 034
AT R 1 AR (f#/100m1) 6 4 4 11 7 4 - -
BRbE LR e ] A% A7) A% A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

T TS W T k%ﬁ%ﬁj(%ﬁ H : FR2542H 13H
= HT7KY f AL i=8 Vi =3 i VISEV/S/ ;
A (5 1t Ei) (= 47-46) (125 118) (¥ MR 1) ATk ) RELE
FH () % JE e NE ] ANSERRY {] )| SR
A BA AR 10:00 11:46 8:00 9:14 11:15 -
KA IS IS IS IS i -
K (‘©) 5.5 6.2 5.2 8.7 5.7 -
JrokAr (ki) (m) 87.92 87.92 - - 87.92 -
AR (Bpkih) (m*/s) 40.13 40.13 - - 40.13 -
e (ki) (n*/s) 43. 65 43. 65 - - 43. 65 -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) >8.0 >5.2 - - >7.1 -
ARt (Br/KH) 9 9 - - 9 -
KB (m) 8.0 5.2 0.8 3.4 7.1 -
BK K (m) 0.5 4.0 7.0 0.5 0.2 0.7 0.5 -
SR 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 2355 9 -
R (TF) g R fiE R i R i R i R i R i R -
KR (C) 5.5 5.4 5.4 5.8 5.8 5.4 5.5 -
B (%) 0.7 0.8 0.7 0.4 0.5 1.0 0.5 -
DO (mg/1) 13.0 13.0 13.0 12.9 13.0 12.9 13.0 -
ER A (mS/m) 7.4 7.4 7.3 7.1 6.4 7.4 7.1 -
W (i) ) (EENSHT) () 0.7 0.7 0.5 0.3 0.3 0.9 - -
DO (ZE 43 #HT) (mg/1) 13.0 12.9 12.8 12.9 12.9 12.9 - 7.500
pH (—) 7.7 7.7 7.7 7.7 7.6 7.6 - 6.50L 8. 5LLF
BOD (mg/1) 0.3 0.2 0.3 0.4 0.2 0.3 - ILLF | 2LF
CODMn (mg/1) 1.0 1.0 1.1 1.1 1.0 1.1 - -
Ss (mg/1) 0.3 0.4 0.5 0.4 0.5 0.6 - 25LLF
PN (MPN/100m1) 170 130 33 70 350 130 - 50LLF | 1, 00084 F
fREEHR (mg/1) 0. 405 0.412 0.391 0.348 0.319 0. 398 - -
TUEo NHERSE (mg/1) 0.034 0. 029 0.032 0. 039 0. 032 - - -
MAHEE e 5 (mg/1) 0.001 0.001 0.001 0.001 0. 001 - 0. 001 -
e (mg/1) 0.283 0.278 0.277 0. 246 0.222 - 0. 252 -
wmy (mg/1) 0. 005 0. 005 0. 005 0. 004 0. 004 0. 005 - -
AN b U UEEREY (mg/1) 0. 001 0. 001 0. 001 0. 001 0. 001 - - -
Va=3= WP (mg/m”) 0.4 0.4 0.5 0.6 0.8 0.4 - -
MU Nm A K U ARGHE (mg/1) 0.015 - - - - - 0.014 -
2MIB (ng/1) 0 - - - - - 0 -
Tt AI (ng/1) 1 - - - - - 1 -
TxF T4 Fva (mg/m%) 0.5 0.5 0.5 - - - - -
VAR Y > (mg/1) 0. 004 0. 004 0. 004 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 001 0. 001 0. 001 - - - - -
[k} (mg/1) 0.001 - - - - - - 0. 034
AT R o R (f#/100m1) 2 4 5 6 4 4 - -
BRbE LR e ] A% A7) A% A7) HAASE A7) A% A7) A%




HUNE AV N R TR S B

— T — T k%)ﬁlﬁ(%ﬁ H: ERk25%E3H 5 H
= HT7KY f AL =3 Vi =3 i VISEV/S/ ;
A (5 B L) (=47 16) (1% O 1) (% 2Bk ) (AT D) RELE
JEH (HAD) ®Ig \ 1 T ) NSRRI {1 SRR
A BA AR 10:00 10:41 7:59 8:48 - -
KA IS IS IS IS - -
K (‘©) 8.0 8.9 7.2 8.5 - -
JrokAr (ki) (m) 87.91 87.91 - - - -
AR (Bpkih) (m*/s) 46. 62 46. 62 - - - -
Jm R (ki) (m*/s) 39. 64 39. 64 - - - -
B GArJIL) (cm) - - >100 >100 - -
FEEE (ki) (m) 5.5 >5. 1 - - - -
ARt (Br/KH) 12 12 - - - -
KB (m) 8.0 5.1 0.8 3.3 - -
KK (m) 0.5 4.0 7.0 0.5 0.2 0.7 - -
sl 4355 9 4355 9 2355 9 4,355 9 4355 9 2355 9 - -
R (TF) g R R R R R R - -
7K §®) 6.8 6.7 6.6 6.8 6.9 6.7 - -
B (%) 1.6 1.2 1.2 0.8 0.5 1.6 - -
DO (mg/1) 12. 4 12.3 12.3 12.6 12. 4 12. 4 - -
B RURE (mS/m) 7.5 7.5 7.4 7.6 7.1 7.5 - -
W (i) ) (EENSHT) () 1.4 1.1 1.1 0.6 0.3 1.4 - -
DO (ZE 43 #HT) (mg/1) 12.6 12.6 12.6 12.7 12.6 12.6 - 7.5L0
pH (—) 7.6 7.7 7.7 7.7 7.7 7.6 - 6. 500 8. 5L F
BOD (mg/1) 0.3 0.4 0.4 0.4 0.3 0.4 - ILLF | 2LF
CODMn (mg/1) 1.2 1.2 1.3 1.1 1.0 1.3 - -
Ss (mg/1) 1.2 1.4 1.1 0.8 0.4 1.6 - 25LLF
KGR (MPN/100m1) 78 170 46 49 20 78 - 50LLF | 1,00084 F
IR (mg/1) 0.416 0. 395 0.416 0.374 0. 353 0. 402 - -
TR LHERE (mg/1) 0. 030 0. 030 0. 032 0. 025 0. 030 - - -
MAHER e 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 001 - - -
e (mg/1) 0. 358 0.341 0. 368 0. 336 0.293 - - -
wmy (mg/1) 0. 007 0. 007 0. 007 0. 006 0. 005 0. 007 - -
AN b U UEERED v (mg/1) 0. 005 0. 004 0. 004 0. 004 0. 003 - - -
Va=3= Py (mg/m”) 0.4 0.4 0.4 0.5 0.7 0.5 - -
kU m A X ERRE (mg/1) - - - - - - - -
2MIB (ng/1) - - - - - - - -
A AI (ng/1) - - - - - - - -
TxF T4 Fa (mg/m%) 0.5 0.5 0.6 - - - - -
VAR Y > (mg/1) 0. 005 0. 004 0. 004 - - - - -
VERRPEA L N YU L RTE Y (mg/1) 0. 003 0. 003 0. 003 - - - - -
[k} (mg/1) 0.001 - - - - - - 0. 034
AT R o R (f#/100m1) 1 1 1 3 4 1 - -
BRbE LR e ] A% A7) A% A7) HAASE A7) A% A7) A%






